Jwe Column Pueofs

1. Given: A Mis supplementary to £A4
AT 18 supplementary to £H
AM= AT
Prove: £A =£H
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2. Given: ZR1s a right angle
A0 1s a right angle
Prove: AR = £0
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3. Given: ZC and AK form a linear pair

Prove: ZC and LK are supplementary
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4. Given: A8 1s complementary to £G
AEis complementary to £G

Prove: £5=£E
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5. Given: £H i1s an acute angle
AH=4C

Prove: £C is an acute angle
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6. Given: £ABDand £CBDare supplementary A
B
Prove: m £ABD+ m«CBD=180° |>\
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7. Given: AABDand £CBDare complementary

Prove: m £ ABDH+ m«£CBD=90"
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8. Given: 44 =43 %
+3=<4 -
44 =45 2
Prove: 42 =5
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9. Properties Practice: Give your own example for each property!

Eeflexive Property: a—«= a”

Symmetric Property: |4 O\ =b ) +Hoen b=Q

a=b, b=C, then a=C

Transitive Property:

Substitution Property: a:: 6 ) B-E) +0" = 5}' %m BD "‘2) :5



